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Проверяемая 
компетенция 

Задание Варианты ответов  Тип сложности вопроса 

ОПК-4.2:  1. «Одиночный выбор» 
What is the English flag called? 

 

a. Stars and Stripes 
b. Union Jack 
c. Lines and Crosses 

вопрос низкого уровня 
сложности 

ОПК-4.2:  2 «Одиночный выбор» 
What is the home of the Queen? 

 

a. Buckingham Palace 
b. the White House 
c. Westminster Abbey 
d. St.Paul’s Cathedral 

вопрос низкого уровня 
сложности 

ОПК-4.2:  3 «Одиночный выбор» 
What city did The Beatles come 
from? 

 

a. London 
b. Manchester 
c. Liverpool 
d. London 

вопрос низкого уровня сложности 

ОПК-4.2:  4 «Одиночный выбор» 
The House of Commons 
assembles in 

 

a. Buckingham Palace 
b. St. Paul’s Cathedral 
c.  Palace of Westminster 
d. The Tower of London 

вопрос низкого уровня сложности 

ОПК-4.2:  5 «Одиночный выбор» 
Canada is a bilingual country, but 
what is the only officially 
bilingual province? 

 

a) Quebec 
b) New Brunswick 
c) Ontario 
d) Nova Scotia 

вопрос низкого уровня сложности 

ОПК-4.2:  6 «Множественный выбор» 
 
Choose at least 3 answers to 
this question:  

 

Australia has six states: 
a. New South Wales 
b.  Queensland 
c.  South Australia 
d.  Tasmania 
e.  District of Columbia 

 

вопрос среднего уровня 
сложности 

ОПК-4.2:  7. «Упорядочение»  
Put the events in the chronological 
order: 
 

a. The battle of Saratoga 
b. The first meeting in 

Philadelphia 
c. The Second Congress 
d. The Boston Tea Party 
e. The Declaration of 

Independence 
 

Вопрос высокого уровня 
сложности 

ОПК-4.3:  8. «Упорядочение»  
Put the words in the right order 

Melbourne, surrounding, was   
founded, 1850s, the, when, gold  
was, in, the found, in, hills.  
Melbourne was founded in the 
1850s, when gold was found in the 
surrounding hills. 

Вопрос высокого уровня 
сложности 

ОПК-4.3:  9. «Множественный выбор» 
 

Choose at least 3 answers to this 
question:  
 

Hats aren't allowed to be worn 
indoors past 6 p.m. for a good 
reason: 
a. It gave women a 
graceful way to swap out their 
millinery for tiaras! 
b. Crown jewels were 
worn in the evening hours and 
during dinner 

Вопрос среднего уровня 
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c. the hats were stowed 
away to make room for some 
sparkle 
d. to leave them to be trimmed 

ОПК-4.2:  10 «Вопрос на соответствие». 
Match the definition with the 
following terms: 
 

A. The red rose 
B. The thistle  
C. The daffodil  
D. The shamrock  
1. the national emblem of 

England.  
2. the national emblem of 

Scotland 
3. the national emblem of 

Wales. 
4. the national symbol of 

Ireland 
 

вопрос среднего уровня 
сложности  

ОПК-4.2:  11 «Множественный выбор» 
Choose at least 3 answers to 
this question:  

Important things the Queen could do 
by using the Royal 
Prerogatives are: 

 

a. declare war; 
.  b. dismiss the Government; 

c. Sell the ships in the Navy; 
d. not pardon all offenders 
 

Вопрос среднего уровня 

ОПК-4.3:  12 «Множественный выбор»  
Choose at least 3 answers to this 
question:  
The Queen takes on journeys: 

 

a.  camera 
b.   feather pillows 
c. hot water bottle 
d. Ivy 

Вопрос среднего уровня 

ОПК-4.3:  13 «Вопрос на соответствие» 
Match the age with appropriate 
actions. 
YOUNG PEOPLE AND THE LAW 

 

A. Age 19  
B. Age 14  
C. Age 15  
D.    Age 16  
E. Age 17 
F.  Age 18 
1. may be employed part-time. 
2. allowed in bars but not to 

drink alcohol. 
3. legally a 'young person' and 

not a 'child' 
4. school leaving age, can leave 

home, drive a moped, marry 
with 

parents' consent (not needed in 
Scotland), buy beer with a 
meal 

5. can drive a car or motorbike. 
6. age of majority- can Vote, get 

married without parents' 
consent, own property, get 
tattooed, drink in pubs 
 

Вопрос среднего уровня 

ОПК-4.3:  14 «Одиночный выбор» 
Choose the correct answer: 
ABRAHAM LINCOLN is 

a. The first  president 
b. The tenth president 
c. The sixteenth  president 
d. The fifth president 

 

Вопрос низкого уровня 

ОПК-4.2:  15 «Одиночный выбор» 
If the Queen moves her classic 
handbag from its normal spot on 
her left arm to her right arm while 
she’s talking with someone, her 
handlers know that she wants to  

a. wrap it up. 
b. leave the place 
c. ask a question 

d. stop the performance 

вопрос низкого уровня 
сложности 

ОПК-4.2:  16 «Множественный выбор» 
Choose at least 3 stereotypes that 
British are associated with 
 

 

a. British love queuing 
b. British are super polite 
c. All British  live in 

castles and cottages 
d. British are all mad 

about football 
 
 

вопрос высокого уровня 
сложности 

ОПК-4.2:  17 «Множественный выбор» a. Your Majesty  
b.  Ma’am. 
c. Your Highness 

Вопрос высокого уровня 
сложности 

 



When addressing the Queen, the 
correct formal way to do so is by 
calling her  

d. Lady  

ОПК-4.3:  18 «Множественный выбор» 
Choose at least 3 answers to this 
question:  
Keep an eye on what the Queen does 
with her handbag: 

a. apparently she uses it 
to indicate to her ladies-in-
waiting 

b. she is tiring of 
speaking to someone 

c. she is ready to move 
on 
d. she is inviting 
someone to talk to 

Вопрос высокого уровня 
сложности 

ОПК-4.3:  19 «Вопрос на соответствие» 
Match the halves of the 
sentences to make them true 
due to Royal Etiquette: 

The conversation flow at formal 
dinner parties is very structured 

1. The Queen begins the meal  
2. When the second course 
arrives, 
a.by speaking to the person 
seated to her right.  
b. she switches to the guest on 
her left, giving everyone an 
equal opportunity to chat with 
her. 

Вопрос среднего уровня 
сложности 

ОПК-4.3:  20 «Множественный выбор» 
Choose at least 3 answers to 
this question: 

 
 

The history of the English 
language has been divided into 
three main periods:  
a. Old English (450-

1100 AD) 
b. Middle English (1100-

circa 1500 AD) 
c. Ancient English (5th 

century AD) 
d. Modern English (since 

1500) 
 

Вопрос высокого уровня 
сложности 

 
 

 


